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SECTION A — (5 X 5 = 25 marks) | |
Answer any FIVE of the following:

] Tabulation.

5e3855es.

2. Secondary Data.
Bedad Serodo.
3.  Types of Averages.

e seen.

4. - Briefly explain the objectives of Range.

T°gm) AB0E), OF° O LJore DSBosode.
5. Importance of Correlation.
JTrdoogo &»éb [Pra00)s%.
6. Skewness.
D3edg0.
7. Types of Correlation
BSomoss Bseen. |

8.  Write about Harmonic Mean.

T8 0°¢ig00 Kr*By [Eraioa.



SECTION B — (5 x 10 = 50 marks)
Answer ALL of the following, Selecting ONE from each unit.
UNIT -1

Define Statistics. Explain the characteristics of Statistics.

Kes=o¥ F*god ﬁtﬁsﬁ)oéoé. Kearof B°g0 ofgT o D5Boss0k.
Or

Draw a sub-divided Bar diagram from the following.
1808 73 5008 IH-EPTE 2B Seadodo Ratwbw.

Production Wheat Maize Padd
(@58)  (Wepb) (£ (m)y

1990-91 = 8000 4000 12000
1991-92 - 9000 6000 11500
1992-93 8500 6000 13000

‘ UNIT - II
Calculate Arithnietic Mean from the following Data.
Bo8 G %006 @osH3S SHendo B8 00k,

Marks (Above)
Joedy),en ()
No. Students
(3«:5‘5%30 o))

b . 80 7@ 80° 80

S0 =T 69 46 21 8

Find Mode Or

Bogsg/fo SRS,

Income
(wcsﬂoﬁoo) 10-20 20-30 30-40 40-50 50-60

No. of employees
(6800 So)s) S 7 16 20 ' b

UNIT - III

Marks of the two students in various subjects are as follows. Who is better by

(i) Average (ii) by consistency?

DD x@%ms“ 38 doeghie Sredd,en 1808 disore aomow. (1) SKew (i) do¥d oo 58

DEORITE?
Sub. 1 Sub. II SubIll SublV Sub.V  Sub. VI
A 16 18 19 29 20 18
B . 7 21 48 =5 44 16
Or >
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13.

(b)

(a)

(b)

(2)

(b)

Calculate the Mean deviation from the following Data,

1808 Ger Sood D50 DSerrRy 68&6&50&.

X 5 10 I5:8 205 25 30
¥ 3 4 8 12 7 2

UNIT - IV

What is Kurtosis and explain its measurements?

s&;&:fo @083 D03 801N 579 OSO% DSB0508.

Or

‘Calculate Bowley’s co efficiency of skewness from the following.

808 763 5008 &) cIny, Paoegd) 88 o308 |
Profit (RS Lakhs) Below 10 10- 20 20-30 30-40 40-50 Above 50

(&250) (8.0805") Goon _ - (%)

No. of companies ' :

(Sombe o)) B 12 20 16 5 2_
UNIT -V

Calculate the coefficient of correlation between X and Y series from the followmg
1808 7e3 H0& X $o80k0 Y H85He S0y a’);’)"{)oa}odﬁ 1HeaseR) 88 0506,
XTSI e e
¥ 3 4. 6 /f 10
Or

Find out rank correlation from the following data.

1808 Ger 2o o508 DFI0205°0) EHfSod.

X 48 33 40 9 16 16 65 24 16
Y 18 13 24 6 15 4 20 9 9
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